RANBALAN BRUGY

E$H 2020861 B1H

B9 S E08R(20194F )
[ TiER) N ES
ARALE 42
|
1
BJS5 — * - BIELEO
KB — BB RA5— 2015583 | PN AR ERD ---¢
i ol
| - | 2
1
RAR R — TREE
Y mEmEO B RARER g |
| 1
1
B B — ¢ ': l l o
Bt EIAR R~ [FCA Bt AE M EE
B OB —
PRA 5%
[ B G R - B ISERNIE D AL S04k 3 )
& B MBI BEmEENtE
BEENE(t) RZFRER) [mEEHZERE (C) EHNE () 1% 2 B2 (] mmA e o)
N AELED | | . AIE M EC
5 ol = ArmE | = | 3| & BEHE
3 2B mo| R
7 1@ *—1 *—1
4 — — 101] 682] 783 259 815
52 | MEEEIE2015%9 R 15HEE | T sesl 7003 TL o1a
6H 131] 841] 972 266 814
78 93] 641] 734 267 815
8H 147] 675] 821 224 814
.~ |98 16] 79 95 0 817
20195 % 108 154] 1,003] 1,247 386 815
118 106] 848] 954 249 815
128 112] 832[ 943 244 817
18
28
3H
w1 IEREDTHE +4 BABRLBERHEBEEIZDA, MARLEEIOL)
[HEDIKRR]
EREEHAR HARX . s E"’“%]T EA 2GR E (BRI E
' H #;F;;X:EF(OC) comgeom| EHEENCA | HENC 5 ERBEEG]
e , Ao | |SOxX| HCL | NOx [[ELLA 7KéR
BIFEMEBEO |AEEEE B %/ hERs mE/EwnE| $EEY
37 44 'E 37 44 'E [==] = 3: = 3:
F Hf_t;]ﬂ_ Hf_t;]ﬂ_ XA H E;(_rg) &m’) (AR (ppm) |(me/m*| (PPM) | (mg/m| (1 &/ M)
48 146 2 98/ | 2m/H 112 4/8] 68
58 166 1118/ 2m/B 115
6 A 171 o[10B8/A] 2m/R 137 | 6/24] 82
78 166 1[118a/B| 2m/B 123 | 7/23 75
8K 166 1(118/A| 2m/B 120| 8/8] 76
9H 157 ol oB/A | 2m/B 10
201955 10A 161 2[178/A1 2m/R 147 [10/30] 56 | 28 71 5
118 163 2128/ | 2m/H 151
128 168 11138/ 2m/H 155 [12/23] 89
18 B/H 2m/HB
2H B/A 2m/H
3A B/8 2m/H
*-2 1ERIEDEHYIE *-3 H238LYRTAYHAZILKDET)
[(BEH R DFEAAF 5]
JRTEIEE MBS E R B AN R B R S
RIRAIE ® ®
HEBL-F£8H B BEAILF2015 201941248
BIEERNABON-H FIF15HEIF 2020418158
BIEHER 0 TEQ/m*N




